Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

B Paper : V

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R TS | RICT 2[RI oS /e “Iqe sl 3 Je 1903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (ST T&T #[@q Jeie 341 7927 |

o S 2T AT AHIF €= NG OMR T&T “[@rz 7l 27 | G 2 I Wam IRIA
SReRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ ATl /F 2N -5 (I 7 Pl
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG AT (PITA! AN 729 T |

® SIF(AIRIR ©2 T[T @ AFINET OMR Te 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS SRR 27 Te BRAMG TRFREDBIR2. 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITE $'T TG OMR Tes g S 5i%® forat 27 |
TriRgemc, ATINE 429 79 ARNFIFOI TG ‘B’ QifFeT OMR Teq “eq s 512 B
o1 =N =i S I8 ‘B’ (6 33 I AR | emiros (1t [pmie @i s
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |
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I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA FHFA 0o 2, 2RI O 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A TSR FE 1 T, SR Ot oIS 0
/e[y T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7F IR & ANFIANET ¢ g OMR Tea7@ (e @ | G T A Wa TR &
SR (e Teaig (e I A |

® 2R[(TF A €6 OMR Te°l@ (eq 2@ | Aa=FINcs (12 (8 OMR TeReiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 3R TSP &TT &) 1.50 797 0T A
R |

® o TG T (I YOI FI AP |

® 5% O (FTF G “rHIE OMR TG0T 1161 /I I - @B (7] 2T FACS 2(A |

o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *JArwTy iRee 267 BT ATS eRotEd (I THAG OMR Ted7itad e B @t = |
TrizgerE, AR SR 2poiEd (IS ‘B’ AFE OMR Te320a iR 2w B’ fordre 2@
3R B 78 ‘B’ T 10N T700 23 | i0q (I SPTHS (YT ARTid) SRR Ragih e
R R 2Raft 379 TACS 910 |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame Seer
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsf amew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsarrEmn el MaE Y@M THT ST rough FERET GiFM™ faaTgamas ! @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ ferEE THe” OMR A= faeme A wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATATE AT - : TR foerst Tmr om0 d@im foemst &', waft w's smfe safeet
e el TS T S-St ot T |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YW |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
e g AR | fafefer anfed femmrmmn g dinr et w5 e B @t fthaam faemef &
ST G e e B o anme o for sgeE e wremHat A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =i gnm |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /ST foRan e @ | SeTEwREEy, afe ulenelf fi uv gieae @ @i ‘B’ @, @ OMR
IT-U= H g ‘B’ foremn grm 3R gt B’ Rt et 1 g | afe WA gftaert | 18w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. T 9Ie TSem Wed 4 &S 303 2

(A) st (B) S

(C) al-= (D) =
1. Sl (I S O[T 47 ST 6 2

A ey (B) el

C) <Ie (D) =T
1. TS®IH 99 STEFTS MaER STTER STg @ JRierEt ?

(A) Ter (B) foems

(C) THTR (D) <% foR
1. T 39T @Te fohd Wi H 39— hid 8 ?

A s (B) Uit

(C) @ (D) B
1. In which part do plants produce their food ?

(A) Roots (B) Leaf

(C) Trunk (D) Bark

2. 7 3 TRF *[T FeiRT Taeelq “RPE (2=

(A) 36-1°F-372°F B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F

2. GG MG IR XA TSR AN {07 297
(A) 36-1°F—37.2°F (B) 36-1°C—37-1°C
(C) 97°C—99°C (D) 48 °F— 51 °F

2. HE WA G gl SUHTE GUTEIAT S
(A) 36-1 °®T — 37-2 °Hl (B) 36-1°0—37-1°%
(C) 97 °"—99 " (D) 48 °®I — 51 Bl

2.  Ueh I%h ol I 1 A AT9HH S S 4 gar 2
(A) 36-1°F—37.2°F (B) 36-1°C—37-1°C
(C) 97°C—99°C (D) 48 °F— 51 °F

2.  An adult human being has a normal body temperature in the range of
(A) 36-1°F—37.2°F (B) 36-1°C—37-1°C
(C) 97°C-99°C (D) 48°F—-51°F
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3. ffere @ sififes SiFioe A A iRl TR 2

(A TR (B) 3sftpq

(C) “Iwgw (D) TSP
3. e @i sififes Spleibre siesie i (712 ?

(A) 9 B) 3fePa

(C) ~%gH (D) ANSRE =Fq
3. TEMEH §¢ YHgITRI HEtEl fof a1 o ¢

A) TeE (B) =i

(C) ImETfran (D) fom gsetrg
3. faaferfia & e TR ST AT T T A 0

(&) wEEg (B) =

(C) =S (D) HHIAT I
3.  Which of the following geometric shapes does not have parallel sides ?

(A) Rhombus (B) Square

(C) Pentagon (D) Parallelogram

4. ST ACON (351 RS RS (I Teee 727 ?

(A) JIBREFR (B) WHER
©) WEET D) =BT
4. T St @i e o eferaifare! w7 ?
(A) JGRFR (B) TIRES
(C) TTHET D) & E
4., TTEEN SE31 31T AHREAR SR (Olympics Swimming Event) 78T ?
(A) weTRTS (B) ShEI
(C) ST D) SFEH
4. Tr=fafea § @ & @ fashew steifus dueht sfanfia & smitre 72 2 2
(A) e (B) SHEH
C) F=wF (D) SIHEH
4.  Which of the following is not an Olympics Swimming Event ?
(A) Butterfly (B) Backstroke
(C) Breaststroke (D) Breakstroke
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5. THiIRe @ee Th Sieed TRITSRS wHFTe ShEe ?

(A) FIES (B) TsMEd
(©) i (D) T2

5. focy SeaRrerm wo MG SiRres ! nisaimces 7 ?
Q) FER (B) TR
(©) i (D) T2

5. TTERIMN SeI3T YA GICTR3TE AR SHT ?
&) el (B) Tierr
(C) e (D) WEE

5. TrAfofiga § @ o6 € A wRa i weE ol A4 7 ?
&) el (B) Tierr
(C) e (D) wEwC

5. Which one amongst the following is the southernmost river in India ?
(A) Cauvery (B) Godavari
(C) Narmada (D) Mahanadi

6. fferiie ! Siveadq AT I 2

A) @R oY (B) TGRSR AT
(C) <R (D) iR

6. 10 TS (G SIS SIS v ?
Q) 9T URS AY- (B) Qe (57 Biald
(C) a2 D) IR

6. BRI SIS TRATH g AR ?
(A) T T T (B) Tred STTed T
(C) TREISH AT (D) e

6. TfcTiad o ¥ H WRA &1 TE 99 & ?
(A) Teh T a1 e (B) TIeT 9TTA TR
(C) T greft (D) e

6.  Which of the following is the National Animal of India ?
(A) One Horned Rhino (B) Royal Bengal Tiger
(C) Asian Elephant (D) Nilgai
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T 29I ST SITeq (1R <[ fRBICa 21 91 =7 2

(A) T2 IR (B) TSR b

() f.=[. SeFrla (D) DM ECOIR (FIU5eT

T SIRUS TR T Ao ?

(A) w2 oI (B) Torm® T

(©) R, SeFme (D) IS TETSSIR T

G ARt 318 O (Iron Man) B9 THRESTET ?

(A) HETe e (B) {9 =g S

(C) fu.3mR. Mg (D) HIER TeANHTS U

R ST A J&Y fohdl AT ST 2 2

(A) e e (B) g =i 5@

(C) 3R, 3regH (D) TIER ToANHTS T

Who is considered as the Iron Man of India ?

(A) Mahatma Gandhi (B) Subhash Chandra Bose
(C) B.R. Ambedkar (D) Sardar Vallabhbhai Patel

T S I SITeq fRIZe @o 0o Ses 2

Q) N SRR SR (B) TFeRfTg e
(C)  «@.F.(S. Si=ge] AN D) TE.R.18. 5ol
T S0 Gl A1 (RpT12e sie) et #ifkibe ?

&) @S el (B) TFeIpIfirg e
(C)  «.1.cer. =Ige e (D) &=, Bl
R 9RAH fremse ge wet s ¢

(A) Breft STERfR s (B) hetrerefeg foa
(C) Tu.fuS. 7o Ham (D) .3 T[T
Wt o fireget 89 o &9 8 fopdl STHT ST 2 2

(A) et ST s (B) hererafeq ferem
(C) THS. 3TsgeA HeTH (D) <.ARE. @
Who is known as the Missile Man of India ?

(A) Homi Jahangir Bhabha (B) Kailasavadivoo Sivan
(C) A.P.J. Abdul Kalam (D) J.R.D. Tata
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9. ToeTie =g (FICHI FETHR B 9 (W 49 74928 95 ?
A) faeIaizs (B) AR
(C) IR ) IEIGISIED
9. I SRR T @M F#ICHR OISR «7 J2ew 285 ?
A) faeIaizs (B) ARG
(C) TR ) EIGISIED
9. TR F&3AT AT 91RF (Computer Storage) T w5frgs <t amfe ?
(A) fimemse (B) dusge
(C) wmeTEe (D) ferersmse
9. frferfam i & FH o HeR £ T T 2 0
(A) TrmeTge (B) <tEmse
(C) WmeTEe (D) fepeitese
9. Which amongst the following is the largest unit of computer storage ?
(A) Gigabyte (B) Terabyte
(C) Megabyte (D) Kilobyte
10. farfetire iy 1=RIc oied (AICTIe® 1= 3A1CS: 2
&) e (B) T&H
(C) e (D) e
10. 90 SC@Ere @ AR SR TS A AR 9A1C=H 2I0S forefiel e 2
A) =z (B) e (2elb)
(©) D) %ot
10. TTERI S ST e STHTE G AT SR ?
(A) g T (TE) (B) @&
(C) T (D) et (Frem)
10. Fr=ifciRad ® & oo &1 vaft 3191 SiFen USi < Wiael § ST § 2
(A) e (B) et
€ fig (D) <
10. Which of the following birds builds its nest in tree hollows ?
(A) Hornbill (B) Egret
(C) Vulture (D) Eagle
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11. SR 95T =0T RN A wifee -

A) I (B) R

(C) wr (D) =
11, SR Sitsfa RIS 2w SICeTy-Fio! (SIeIT) 297 -

Q) I (B) iR

(C) wr (D) =
11. Sfed ity frfafem vesmst smemw |

(A) TR (B) mmferfy

(C) #m (D) Im=m
11. fs T %1 UgeT TeeH o -

(A) TR (B) wmfert

(C) #m=n (D) Fm=m
11. The First album by Zubeen Garg was

(A) Anamika (B) Mayabini

(C) Maya (D) Aasha

12. “Jeredfzar’ J I/ e SAfReT 2

Aa) TEe (B) R

(C) TG (D) T
12. “qrerogiere” e :

A #Ha<s (B) =™MS

(C) JITeG (D) T2
12. ‘Toafef’ & forfift smar ¢

(A) g (B) s

(C) dmmHg (D) wHegu
12, ‘TS fergeh g foredt 78 off ?

A) EF B) A

(C) =g (D) whegw
12. “Rajatarangini” was written by :

(A) Shudraka (B) Jayadeva

(C) Banabhatta (D) Kalhana
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13. TeTRIe 512 +[41 TRITHS e ST 7aared 7@ w1 e 4 |

(A) 9 @Y @¥ [T (B) Calfetorsy” &'7
(C) =E I (BeTeesi= (D) oo Gtz
13. I TR (PG TP SAES ST 71 (SR BRresi«) ?
(A) @H-9¥ G — [TTH (B) oniferfers e
(C) < T2 gt (D) oo =t
13. TTERI ST STGHISE G HHTR gfemf g 7
(A) TR TH TR (B) Trefiferan ste
(C) Bt v gfem (D) ufewm gifeH
13. fr=forfga o @ of srafe o wenfia srifesa Sefiend &1am 2 ?
(A) TR TH T — = (B) Trefiferat sta
(C) &9 T Jeften (D) Tfewd e
13. Which of the following is the name of the optical telescope in space ?
(A) XMM-Newton (B) Galileo probe
(C) Hubble Space Telescope (D) Edison Telescope
14. 92953 39 Fifte 395 T TS (2w |
A) TR (B)
(C) 9P (D) IYfeAR Refe
14. RO I AR MO ITLP =R
(&) T e (B) ¥
(C) ANPR (D) Ifoa T
14. IRTEETE SEER AT STEeHh STRI TR T9E TR 2
(A) HR Fuer (B) s
(C) THf&s (D) sfeqar Raerst
14. TUEHTE hl TS ATMId SRGhA 3R h &g At 71 off |
(A) HRHE (B) g
(C) T foE (D) fere faesht
14. The battle of Saraighat was fought between Lachit Borphukan and
(A) Mir Jumla (B) Turbak
(C) Ram Singh (D) Bakhtiyar Khilji
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15. oo T TS LUIREIE (FRCE! 2T 191 (PRI SR T ?
(A) s (B) <igeifs =
(C) O™ ©q (D) 2T ol6
15. SRS &S FETS! K0T 2 ewaE! (i B (A0 SIRoP AL T ?
(D) =eTCPa! (B) 3geIfs o3
(C) ™ I (D) 2fegr oio
15. STERCRHS! HRAH 3t TH@Tte, TEr JiUsT Se SRS giet@! iiaar g gt ?
(A) et feper (B) Trsgufa wem
(C) &He W (D) sfusaT e
15. WA % Yoeh TaadT fad W, TUTH TF 1 el 8 FEied id & :
(A) et fopen (B) Trgufer wer
(C) &&e ¥y (D) sfeanTe
15. On every Independence Day of India, the Prime Minister addresses the
nation from :
(A) Red Fort (B) Rashtrapati Bhavan
(C) Parliament House (D) India Gate
16.  CNferaTl CRIFL (7o STE(fell 52 ?
(A) et (B) ez
(C) i (D) <=
16. IwET RIS (IO Frer(lell *12g ?
(&) e (B) frfersist
(C) (D) AT
16. TR S BTEH TSI THTRHAT 7
(A) TARET (B) Trefidfi==
(C) SSHfEN (D) UrEete
16. #fien I USHT wE R |
(A) TARET (B) Trefidig
(C) SSHfEN (D) UrEete
16. Manila is the capital city of
(A) Malaysia (B) Philippines
(C) Indonesia (D) Thailand
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17. ='5IR (Gfe b SR :
(&) el (B) g it
(C) TR (D) ¥

17. 91 X (TR BiiofeT) SR :
A) TRETRrS! B) g el
©) TR (D) TSIl

17. S8 30 ST FRIC 7
(A) I (B) e feeeht
©) T (D) et

17. ed Ue 9Igf (eI @ -
(A) shiefehral (B) 3 feeeht
(€) T% (D) et

17. Lotus temple is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal

18. (e M2 fooTe FFITHRT 9T SICH+{b Hefel (HILo! ?
A) TR (B) APl
(©) WEFE=w (D) FR'E

18. 0 SRS G HEwOBIER S5+ otz ?
(A) e (B) PR
(C) TRFCTH (D) SFIEE

18. TEEM & HHET H‘H‘gﬁ'&l (computer) T 78 T JATTY (output device) ?
(A) w® (B) et
(C) HIEHI®I (D) e

18. feaferfiad o & shoget 1 Seye feag@ R @ g 7
(A) #R3™ (B) et
(C) HTgshIBH (D) whiste

18. Which of the following is a output device for a computer ?
(A) Mouse (B) Speaker
(C) Microphone (D) Keyboard
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19. IR (G ATEHIET OIS ©Itd SIBIRSCS *{aiel fet Rl 71 27 ?
(A) A slew s (B) Ry oRoxw=
(C) SIRRET “Rewer (D) o’
19. 0y Srafire (o Aol welferel eibimes e Rafbe 2 2
(A) 7R A SR (B) ey s
(C) SR o= (D) ~IF*6x 95 s
19. TERN S8 g BriekimEriheE Mo iie g a1 o ?
(A) YR YSITe FHET (B) foean greimmEi
(C) 3Taet BTSHTETH (D) GHEI HTe
19. frafefaa o @ = o vaq 2@en syymifa g 9 goe quet 71 STt © 2
(&) TS B) fals
(C) I IS (D) gt =
19. Which of the following mountain range is geologically considered the oldest ?
(A) Pir Panjal Range (B) Vindhya Range
(C) Aravalli Range (D) Western Ghats
20. 2024 HI< AR SEAHFL (14 52T© HAANMETS 273 2
Q) iz (B) =%
(©) =R D) g
20. 2024 A TP SCA2RF (e *2F SRS P ?
A) i (B) =TS
(C) SIPHRTHN D) =9
20. 2024 e AR SATTIHE! I8 TTTHRT ST ?
A) Ui (B) &=
(C) wEH (D) i@
20. I 91 & 2024 HsHehTeh 3Tciftes 6t AsTart i ?
A) utE (B) wed
(C) weeH (D) i@
20. Which city will host the 2024 Summer Olympics ?
(A) Paris (B) London
(C) Amsterdam (D) Zurich
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21. T[T A (P ARITS SIS :
A) foamws (B) ©meT
(C) f=Hme (D) TGS
21. T WAL @ #ARICT S1AES
A) foamws (B) ©meT
(C) f=Hme (D) TGS
21. 3IUT= A3 99 A @UIE € 7
A) g (B) weHTEel
(C) fueam=a (D) Hea=d
21. 3T Hfex e verdl R 2
CNIREFIEE (B) Tt
(C) fereareret (D) e
21. The Umananda temple is situated on the hilltop of
(A) Chitrachal (B) Bhasmachal
(C) Bindhyachal (D) Sandhyachal
22. ‘IREFGRT 1Y’ Ifere Tmiers &b S i @i wifeeT ?
(A) TIF (B) xro
(C) ©iRe D) R
22, ICEIHIER S RO RS elibie SreR bR :
A) TIF (B) xre
(C) Se (D) f=r=e
22, TGI-TERI TRATR <& BIETHITH G311, IR BTt 376 A S i ?
(A) = (B) gyd
(C) dnwe ) IREEIRET
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22. 31y TaferedT o S Thg ST 9Tt I 9 fafercdss o -

A) = (B) ¥
(C) drmwg (D) e

22. The ancient Indian physician known as the ‘Father of Surgery’ was :
(A) Charaka (B) Sushruta
(C) Vagbhatta (D) Vinayaka

23. SO MRS BT LI SPIH! SAICR ?

(A) 14 (B) 10

(C) 15 (D) 12
23. OISR TR FIG TG 7l “Ahew T 2

(A) 14 (B) 10

(C) 15 D) 12
23. 9RATR Sfafoasma Taed Bl g ?

(A 14 (B) 10

(C) 15 D) 12
93. v Efe i et st T 9 8 2

(A) 14 (B) 10

(C) 15 D) 12
23. How many schedules are in the Indian Constitution ?

(A) 14 (B) 10

(C) 15 (D) 12

24, TP I T Tl (202 FCNLS ?

(A) B T B) fast

(©) Ffrgm (D) fofew
24. TN e SFC (I e AT T ?

(A) eI 2T B) fasmr

(C) s (D) B
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24, @Y (FU) foara 59 Tz @ faer ¢
(A) 3T S (B) fgm
(C) HfoTE (D) fferm
24, HiFE-IA 3The fohe T 1 T5I%e & ?
(A)  ITEUTEA Je (B) fgu
(ORI (D) fafrm
24. The Fox-tail orchid is the state flower of
(A) Arunachal Pradesh (B) Tripura
(C) Manipur (D) Sikkim
25. SPTRS JifeT 5l (2R :
&) gl
B) ™
©)
(D) ™e2Z
25. SPIICIE I 71581 27 :
Q) I
B) =
©) W
(D) e
25. STHM FEETHATN &3 A ?
(A) TE @ (B) & g (et
(C) T (D) =t Tt (grnf )
25. ITEH HT TSI Ui B :
(&) (B) wHfsret
(C) =L (D) <3
25. The state bird of Assam is
(A) Cuckoo (B) Hornbill
(C) Peacock (D) White winged wood duck
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26. TIM TS IRORNT IF BFOI (- (Fd TG RA5S (2f2dT :

INIRISSH (B) I 7129

(C) Tl (D) IS
26. T EI o FIET (SHTHCAA I THGAIG TR -

INIRESH (B) ENE

(©) e (D) Sl
26. S SRS STGET ST Te-BIAR SIS FATeATGl ?

a) fi@ (B) ®EIUR

(C) wTrTfor (D) sTEH
26. BT 1 H Teh THE doi-&F GeleT 78 SiTg T gs of

A fam@m (B) HEIUR

(C) =T (D) STEH
26. A major Oil-field accident took place recently at

(A) Tingkhong (B) Sarupathar

(C) Merapani (D) Baghjan
27. 9 DoIRRE e i % wifes ?

A) weTs (B) WFR

(C) RIS (D) WECE
27. I ARG ST 1IN :

A) weTs (B) WFRH

(C) IRIT (D) WECE
27. oot e ganaan

(A)  SHHS B) grTES

(C) HTMITER (D) weered
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27. &R Faems @ e T o
(A) SIS (B) gwiead
(C) reTIES (D) weeted

27. The real name of Bir Chilarai was
(A) Janmejoy (B) Sukladhwayj
(C) Kalapahar (D) Malladev

28. ‘TR @ (PN GBI G Bge)f T ?
@) ffem (B) PR blR-Geie
(©) T (D) I Gweeld

28. ‘B T FIng @Rl B ?
(A) TRpfer (B) SIMIE biR-Ceieife
(© foam (D) T Tofwrifis

28. ‘TG AT TR HIFE MR BIET ?
(&) fersmfsre (B) s @Er BT
(C) femmem (D) FHfer 7Tl

28. “TE T FohEeh! T HEaUl ARR B ?
(A foomfsen (B) e ! =T ST
(C) femmn (D) bl STFmIfe

28. “Tusu Puja” is an important festival of the
(A) Bishnupriyas (B) Tea tribes of Assam
(C) Dimasas (D) Kuki tribe

29. RIS @GBS “YUI-10siR1” (Mask Making) 35 @i4roia b6l 41 23 2
A) wAETe (B) et
(C) Tl (D) il

29. G SRS @I FIE I ToA” (Wi (2R SYISita bibs 23 2
&) TR (B) gl
(C) Tal=I=Ie! (D) Al
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29.

29.

29.

TR S8 RIS Ja@ SHREHEE! TEiss a7

(A) =3ed (B) wett

(C) eI (D) wfezm

FreferRad ® @ ford M W “G@Eiel sHET J&T €9 | fohat ST @ 2

&) =R (B) gt

(OB CISEIS (D) rfeam

In which of the following places, “Mask making” is predominantly practiced ?
(A) Charaidew (B) Majuli

(C) Goalpara (D) Sadiya

30.

30.

30.

30.

12 Rede *ifeq Trers S g 1efbe tafew, ¢12 e 1o o1 it =7 |

(A) =R S GF112T (Axis and Allied)

(B) «eT3T o< @R’ (Allied and Axiom)

(C) «e72T T (95 (Allied and Gammon)

(D) oM % @RBR'Y (Gammon and Axiom)

@l Redre e bR Ty sk Rega zwfe ofl siefs -
(A) «f$PT € GEIET (Axis and Allied)

(B) @S @ @3RN (Allied and Axiom)

(C) 9T 8 (319 (Allied and Gammon)

(D) TN 8 R (Gammon and Axiom)

TgH qa@l 11 374 el AR HiH 3T TRl g5 SITeTs
(A) ufegm R 3ATEE (Axis and Allied)

(B) 37eITsE 3T U3 (Allied and Axiom)

(C) 3reTsE W 1 (Allied and Gammon)

(D) TR AR V3™ (Gammon and Axiom)

g fra g QI o wf i g e, &= +arsmang |
(A) TUfeaH U TS (Axis and Allied)

(B) ueTss Us ufegatm (Allied and Axiom)

(C) ueTss U 1 (Allied and Gammon)

(D) Tm Ug ufeg3t (Gammon and Axiom)
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30. World War II was fought by two opposite power blocs called
(A) Axis and Allied (B) Allied and Axiom
(C) Allied and Gammon (D) Gammon and Axiom

31. frafeTie s1=g (I FiiaRe o=fEs ?

&) FRR (B) Sferelt 2

(C) w (D) TRl e
31. forca Searfire (G RiTioies wfEs ?

@) Ry (B) wiferTt 2

(C) =9 (D) TAleT (N T
31. TEEH T feErRaTE ¢ ?

(&) gimER (B) wfert e

(C) TI= (D) et Tiifere iy
31. Ffofa & @ F Rearr d fem g 2

A) g uers (B) mferfierm

(C) TR (D) <rermifeig AfeT
31. Which of the following is located at Sibsagar ?

(A) Surya Pahar (B) Malinithan

(C) Rang Ghar (D) Dolgobinda Mandir

32. SOOI (@ AET© I9IF 19 Sesifaze] S[fEe 2

A) =™ (B) o=

(C) Mew™™ (D) TIERR
32. SRCSH (T AT (AF I MK S¥ife 2= ?

A) SIPIN (B) s

(C) frsN (D) TERE
32. WA 99 TSSI3TE s SHET AHTSE! ?

@A) FmEm (B) wforg

(C) fieitm (D) HaT
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32. o el WRA & ford T T Freperdt 2 2
(A) 3EH (B) =g
(C) fusin (D) e

32. In which state of India does the Barak river originate ?
(A) Assam (B) Manipur
(C) Mizoram (D) Meghalaya

33. “IR Ao IS @F T=mRE Pre wivs ?
(A) Ed (B) IR F=IA
(C) fet (D) IS

33. TI0x SRS R TRmIGHR 0 “23WR A IS ?
@A) e (B) STCAIIE SIS
(C) feai (D) I

33. B S&E “gEal Md” S @RI & ?
A b (B) |HET HHH
(C) feam (D) et

33. “¥an Ma” frfarfga § @ fore oge™ @ defa R 2
A b (B) |HET B
(C) fomm (D) hIfel

33. Which of the following communities is “Haidang Geet” associated with ?
(A) Deuri (B) Sonowal Kachari
(C) Tiwa (D) Karbi

34. PR SRR e oie < fFeg 3ca fegrs 2
(A) TN (B) 63 'BI
(C) TG (D) W
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34. P ORI &N e Ty s 2
&) fre B) Tl
(C) G (D) ScdeT
34, 3T HTNERTS MY S&f ARG e ?
(A) M () (B) TN
(C) we (D) A
34. 31HH 1 kel i forss fore wfig 2 -
&) wm (B) I
©) e (D) @
34. Asharikandi village in Assam is famous for :
(A) Silk (B) Terracotta
(C) Jute (D) Marble
35. I A S & SARoFTT IPTST ¥ ?
(A) TeyifeePim Ss =@l (B) ST (o<l
(©) frpeptm arel (D) RT>E I
35. DI CIe AT AN “AF 2
A) TEifs eFm SeReTE (B) TR (@@l
(C) e &Pt el (D) <3 5= I
35. ‘Ufeh’ 3T IRM Bk T@H g 7
(A)  <fd v9Te 3mETer (B) AEHMTY ST&r83TT
(C) Torsy] &g Tl (D) feF =g sieat
35. “arehl” ek Uk BT A 2
(A) S s ST (B) e Srerean
(C)  ferom sramg T (D) 7l =g seeredts
35. “Poki” is the name of ancestral home of
(A) Jyoti Prasad Agarwalla (B) Lakshminath Bezbaruah

(C) Bishnu Prasad Rabha (D)

Nabin Chandra Bardoloi
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36. [TfeIre sTy2g (FICH! (PRI *PTe Seee] 723 ?
A) *Igwal (B) ol
(C) TPMIZFF (D) BT
36. 0 SRR T @A @O es =7 2
&) o (B) mi
(C) TIPS (D) BT
36. TR SS3TT JT3 B 3G 78T ?
A) HgH (B) E™
(C) HISHH (D) =vée
36. frefetfiga o & s weh hg Wi yew 7€l 8 2
A) gg (B) wer@
(C) HISTEHATA (D) =iEg
36. Which of the following is NOT a Union Territory ?
(A) Puducherry (B) Ladakh
(C) Kodaikanal (D) Chandigarh
37. T 72 *eq Aere B[] 7fh FHHS (2w ?
A) Iz = F=E= (B) FH™ I A2
(C) w2 i Iz (D) Iz = B
37. B 3 PG M0 AFINS RS 2
A) &oH @R 3 (B) 3 @R =2
(C) SN «3: fafG= (D) fafom @3 B
37. ST TS TR TR T9e STRMEH ?
A) fafes st =ffe (B) &S TR 38’
(C) e i farfem (D) forfest smar =mefis
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37. iere <t ftr & freh i geamer fopu 3 &

(&) Torfew i st (B) =i 3R Frem
(C) 3em K forfew (D) forfemr i =i
37. The Treaty of Yandaboo was signed between :
(A) British and Burmese (B) Burmese and Ahom
(C) Ahom and British (D) British and Chinese

38. RS b TCH NPV I I5RS! (] NI ?

@A) et (B) =

(OB (D) ifermr
38. S AT oG *P@eT’ (I feTr iRt ?

(&) e (B) Fr2

(OB (D) ifermr
38. TEhd BEUT “INFH IMp=aem” G GR fertm ?

(A) dforf (B) he@l

(C) e (D) <hiferer
38. AN gpacm” fueh, Teh TEehd A1esh fohdeh R forem mam o1 2

(&) o (B) eeu

(C) 3reaE (D) wIfeieE
38. ‘Abhigyan Shakuntalam”, a Sanskrit play was written by :

(A) Paninmi (B) Kalhan

(C) Asvaghosa (D) Kalidasa

39. JIRF RS @R [ow @y (2= :

(A) 2R BT 2t (B) (S el o1 2T S 12
(C) e e (D) “T84=T GB!I
39. T ceiie reTs Ko Cafizy == -
(A) 95! BRI BT CATET ATF (B) RS &0 SRS (12
(C) R oraf® (D) TTE GFCEHA P!
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39. SENR SIS HeATH = STGATS ST
(A) ot w7 ger o (B) TS BIET gTeATSH TR TR
(C) Hasi GeF-did’ @i (D) ToRfEsTI AR SE wretf
39. arfier SAfae Tt hi foRivar 2
(A) T8 <eE =2 Goi waT R |
(B) ufeeTati i Ja i <hl Al TE 2 |
(C) =g fafr romeft
(D) T3 T I AR
39. The special characteristic of the annual Jon Beel Mela is :
(A) It remains open round the clock
(B) Women are not permitted to enter

(C) Barter system

(D) The exclusive trading of livestock

40. TS 3729 (@IE “AI-BI2S e afee ?

(A) SFHER (B) IS
(C) vrERER (D) P
40. T SERSTR @ & “T-2-2911” 7 ek FCEARER ?
(A) ST (B) ==
(C) ==z D) <=
40. TH-T-3ATE W MR TR TS AFTRSHTHEN ?
(A) A (B) MR
(C) EstEl (D) 3IFhT
40. TR 4 @ fopa “SH-U-3amdY” shi TeaTTd o6 ot 2
(A) I (B) W&
(C) IEsTEl (D) 3TheR
40. Who among the following initiated “Din-i-Ilahi” ?
(A) Aurangzeb (B) Babur
(C) Shah Jahan (D) Akbar
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41.

41.

T @I 9T N 2 20% FT© T T ¥ E AT 20% SRS 7S
e 03 | Iy R 9 e @91 wre =i (2 :

(A) 40% (B) 50%

©) 30% (D) 45%

T G5 AN EIGF IS o1y (/ITF 20% B T 61 3R &M T& (AT 20% @0
I R o1 | TG R 919 &) *rohd <6 200 o1 21 2

(A) 40% (B) 50%

©) 30% (D) 45%

41. HHA THY JETEE! TR SHAMTHR 20% THTE SRET AR | 9 SareE! fern o
FEAMHTE 20% ST S8Td BHETRAT | SHIGE! BHATE S¥ @6l GAThT Sl ?
(A) 40% B) 50%
(C) 30% D) 45%
41. HHA Th I& I 35 Tigd qod ¥ 20% HH T Glied g 3R 34 Gfgd oI T 20% 3 |
ST 2 | S I a= T AT HT feRa R
(A) 40% B) 50%
(C) 30% D) 45%
41. Kamal buys an article for 20% less than its printed price and sells it for 20%
more than the printed price. The percentage of gain on selling the article is
(A) 40% B) 50%
(C) 30% D) 45%
42. I A:B = 2:3 9% B:C = 4:5, T8 C:A I 791
(A) 85 B) 5:8
(C) 5:18 (D) 15:8
42. IMAB=2:3 4R B:C=4:59E C:ATA::
(A) 85 (B) 5:8
(C) 5:18 (D) 15:8
SPACE FOR ROUGH WORK
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42. JCA:B=2:330B:C=4:5, 37 C: A3 SH
(A) 8:5 B) 5:8
(C) 5:18 D) 15:8
42. IR A:B=2:33MB:C=4:5,AC:AR:
A) 85 (B) 5:8
(C) 5:18 (D) 15:8
42, If A:B=2:3 and B:C = 4:5, then C:A1s :
(A) 85 (B) 5:8
(C) 5:18 (D) 15:8
43. Q97 T GPRY &S TR 10% TS I R | MG TN &Pl 1000 2 3
2qq 2e T SR 2T :
(A) 1300 (B) 1351
(C) 1310 (D) 1331
43.  Gb 2= TP &S T=7 10% 2 G = | T PR 1000 20 3 I ¥
*2AH7 SR 2
(A) 1300 (B) 1351
(C) 1310 (D) 1331
43. TEY TRM gy ERHRT SEThEE 10% gRIE dEems! | e e g9
IARTERET 1000, 36T TR 3 3G o AR g STANHR §F ST ?
(A) 1300 (B) 1351
(C) 1310 (D) 1331
43. T I I SHEEA H ufd 99 10% H @ W ghg B 8 | A IAHE FHE@ 1000 B Al 3 9

e &L hl SHEET Bt

(A) 1300 (B) 1351
(C) 1310 (D) 1331
SPACE FOR ROUGH WORK
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43. If the population of a town increases at the rate of 10% every year, the
present population is 1000, then after 3 years the population of the town

would be
(A) 1300 (B) 1351
(C) 1310 (D) 1331

44, @ 75! FO[F MR 3 1 5 FPICS AR, AT MRIFHR 77T @R 135 |
SRYIERE T TR :

A) 5 B) 9
© 1n D) 15

44. 72T FORF MR SIS 3 : 5 GR OITR BT 135 | Forod w1 =
A 5 B) 9
© 1 D) 15

44. 9= fuform smfsmf sgumsn S 3 ¢ 5 3R SERA FESTeRTEET STe 135 | S9RH
HIGTS G STISHRIT AT ?
A 5 B) 9
(€) 11 D) 15

44. T YIRS GEATE 3:5 AT H & 3R 3T ToH®HA 135 7 | 374 € BIE T@&AT 2 -
A 5 B 9
©) 11 D) 15

44. Two natural numbers are in the ratio 3:5 and their product is 135. The

smaller number is

A 5 B) 9
©) 11 (D) 15
SPACE FOR ROUGH WORK
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45.

45.

45.

45.

45.

?Iﬁ’_IA,BWC?WW.‘ZZQQNN1¢BN1$C§WW25<Q§®,(.\D(.\'§9<9\<<
e A I :

(A) 3539 (B) 303=d

(C) 253=F (D) 20 3=F

A, B €32 C 97 51T I 22 I 4R B @ C «F 51T I 25 I 23 A T 59 9
I 7 T

(A) 353¢F (B) 303K

(C) 253¢W (D) 20 IW

Jfc A, B 30 C [ 9@ 7T AH3T 22 9ER 3 B 310 C [ 9891 T8 qHaT 25 JER,
ITSAT 9 TR 3 A 1 S|e 98 S 2

(A) 35dER (B) 30 €rER

(C) 25«ER (D) 20 ¥ER

Ife A, B 3T C i 319d 311y 22 99 2 31 B 3R C i 37ea 371y 25 a9 7, @1 9 98 a1g A
ﬁawg%:

(A) 3599 (B) 3099

(C) 2599 (D) 2099

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then the age of A after 9 yearsis:

(A) 35 years (B) 30 years

(C) 25 years (D) 20 years

46.

T GBI BN 6 & AR 15 TeTo 7o) TR AT | FINCG! TS F919 10 T Frze
IF 4 T YRR PO @15 AR | Ghew) Sz FRfRfer 375 ietst e @i e
RS

A 2 B) 3
C) 4 D) 5
SPACE FOR ROUGH WORK

SLRC-2022/P-V/B 31 P.T.O.



46.

46.

46.

6 & T G0 I 15 W1 FAC I | 10 T 17 S8 4 &l TR @il 39 | IS
FIEGT T FICS Fofme] NI ?

A) 2 B) 3

(€) 4 D) 5

AHE @I |91 6 AEEsT 9F 15 3™ ®BiNE | 99 10 7 39 e @ 4 qEfy
TSN | & UTAHTE QTG BISeHT S T S ?

A 2 B) 3

(€) 4 D) 5

6 I8 Teh 1Y ! 15 T # g SRt dehd & | 10 Tl o aTe, 4 31K 789 JSd & | 39 & !
T R o foTu STrarer fei 1 e 7

4) 2 B) 3

© 4 D) 5

46. 6 men can complete a task in 15 days. After 10 days, 4 more men join. The
number of days required to complete the remaining work is :
A) 2 B) 3
€ 4 D) 5
47. RICT @3 R 20% J 25% T 50% T A 21 | SRICHI 23
(A) 420 (B) 520
(C) 840 (D) 940
47. @A G0 TR 20% G 25% €9 50% WeR 21, Aifs
(A) 420 (B) 520
(C) 840 (D) 940
47. HIFE AR 20% T 25% T 50% 31 @™ 21 | 9 SHNHRE SEH
(A) 420 (B) 520
(C) 840 (D) 940
SPACE FOR ROUGH WORK
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47. TH D 20% b 25% HT1 50% HTHME 21 8 | TG TR ¢
(A) 420 (B) 520
(C) 840 (D) 940
47. 50% of 25% of 20% of a number is 21. The number is
(A) 420 (B) 520
(C) 840 (D) 940
48. 0.23 3 3Ige wAlH(G (2R
23 23
(A) 99 B) 990
23 23
©) 999 D) 99
48. 0.23 G TGeT SR
23 23
(A) 99 (B) 990
23 23
©) 999 D) 99
48. 0.23 1 guM A BRAE SEEERIST e
23 23
(A) 99 B) 990
23 23
(©) 999 D) 9o
48. 023 NE =% sUst g e :
23 23
(A) 99 (B) 990
23 23
(©) 999 D) 9o
SPACE FOR ROUGH WORK
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48. 0.23is equivalent to the fraction
@ = ®)
© w5 O 20
49. &1 AR TNCHA fqgea (Fars! (7R 81 .7.2 | fqgehq 3¢ oref (2 :
(A) 14 @A B) 16 G.1.
(C) 18 .1 D) 22 @.K.
49. (6 TN TR fqored TRaeER 81 P1.A.2 | fagsita Sifogred T
A) 147N (B) 16 7.1
(C) 18TLR. (D) 22N
49, U MOER @AY ARERgmE csmser S 81 @.fr)2 | 9 smentymi
ARATEAM AT &=
A) 1435.fa. (B) 164.fa.
(C) 1su.f. D) 22%.fm
49. T THIGSTG THRI S 1 &ha 81 THi2 g | Y o w0 I TE5 &
(A) 143 (B) 16 @
(C) 18 & (D) 22 &
49. The area of an isosceles right angled triangle is 81 cm2. The length of the
hypotenus of the triangle is
(A) 14 cm (B) 16 cm
(C) 18cm (D) 22 cm
SPACE FOR ROUGH WORK
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50. 5! A9(THIT T ARG 2:3 | PRET CFaTeTq TS (202 -

(A) 35 B) 2:9
) 49 (D) 4:5
50. =21 IfTHCa Pl SIS 2:3 | 9T W25 TRAFCER SIS
(A) 3:5 B) 2:9
©) 49 (D) 4:5

50. STERE ST TH- S SETRE SATEST SE™ 2 : 3 | o S A s emsst
ST

@A) 3:5 B) 2:9
) 4:9 D) 4:5
50. o=l g1 ot o ferehotl o1 37T 2:3 B | a1 o ket forey STUra H 8
A) 35 B) 2:9
) 49 (D) 4:5

50. The diagonals of any two squares are in the ratio of 2:3. The areas of the
squares are in the ratio of

A) 35 (B) 2:9
(C) 49 (D) 4:5

51. %awﬁwwwmz

(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
2.5
51. E@Wﬁwaﬁm@%—.ow:
(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
SPACE FOR ROUGH WORK
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51 0l gl e A1 de 7
@A) 0.5 (B) 0.25
(©) 0.05 (D) 0.025
51. %?ﬂaﬂwﬁ“@—w%:
(A) 05 (B) 0.25
(C) 0.05 (D) 0.025
51. The decimal representation of % is :
(A) 05 (B) 0.25
(©) 0.05 (D) 0.025
x /162 , -
52. W\/ES_ X 2, (O(® A’ I :
(A 12 (B) 14
(C) 196 (D) 144
x 162 ., .
52. zlf'\’_f_\ll—S— . 2, O ‘& @IV ¢
A) 12 (B) 14
(€) 196 (D) 144
52. dfg 328: “262 SITteat, x T o fega 2
(A) 12 (B) 14
(C) 196 (D) 144
x /162
52. o8- x , <l x T HTH JTd hIfST |
(A 12 (B) 14
(C) 196 (D) 144
SPACE FOR ROUGH WORK

SLRC-2022/P-V/B

36



\/162

. . X
52. Find the value of x if \/1_8 =
(A) 12 (B) 14
(C) 196 (D) 144
53. AMa—b =5 a2+ b2 =41, TS ‘ab’ I I (2T
(4) 10 B) 5
©) 7 D) 8
53. Aa—b=59RaZ+b2=41%,SE@ ‘ab’ GI A
(4) 10 B) 5
©) 7 (D) 8
53. Jfca—b =53 a2+ b2 =41, 3 ‘ab’ fram fega 7
(4) 10 B) 5
© 7 D) 8
53. Ica—b=53MaZ+b2=41,d ‘ab’ HITAF T :
(A) 10 B) 5
©) 7 (D) 8
53. Ifa—b=>5and a?+ b? =41, then the value of ‘ab’ is
(A) 10 B) 5
©) 7 D) 8
54. 5 Tl AR GBI SN (tank) 80 fG® ¢ w5fq #iif< | GGl Seidi 8 Tt ~AiZeo
5]t P[RR [P TR @ITee] 27 2
(A) 80 TG (B) 70 ffi
(C) 60 f+G (D) 50 G
SPACE FOR ROUGH WORK
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54. 50 e 711 @F b GIAE6H (G51%) ©f6 F90o 80 G 5= =1iter | 8 b «1e1 =it 12 BRwIH

(B51%) S F0© F© 7 6N 2
(A) 80 G B) 70 G
(C) 60 G D) 50 G

54. TH 3k (Tank) @ & 5 gl ST 80 ffad om om&t | 9 3 @Y Sfe &’ 8 BRI FaHIaT
S TH AN ?

(&) 80 fifra ®) 70 fuf@
(C) 60 fafra (D) 50 Wfra
54. T bl 1 5 UT3Y 80 fime # WX Tehd & | 3HI 3ok ol 8 UIsW & W | Teha=T &0 o1 ?
(A) 80 firme (B) 70 fime
(C) 60 fie (D) 50 fime

54. A tank can be filled by 5 pipes in 80 minutes. How long would it take to fill
the same tank by 8 pipes ?
(A) 80 minutes (B) 70 minutes
(C) 60 minutes (D) 50 minutes

55. 54° TG QTGRS & FCe 371K I+

@w = ®

© 1 @) %
55. 54° (IR o @RS RS e

@w = ®

© 1 @) %
55. 54° W@ AT HiA=ST 7 HATH ?

@ % ®) °F

© = @ =

SPACE FOR ROUGH WORK
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55. hIUT 54° I ISIT 1 318 A YNETdd i W 3T A ST BT & :
T 3n
A 710 ® 10
n 9n
© 710 D 7o
55. The angle 54° when converted to radians, is
T 3n
A 710 ® 10
n 9n
© 710 D) 1o
56. TR GBI A4 2 30% I T 27, ©F F12® OF 30% TP F41 2 | FRIJGF Io
I 1 2P *oiN 2o
(A) 9% I (B) 10% T
(C) 10% @ D) 9% T
56. @D TRIANF 30% S FA! 21 IR ST 30% DT FT 21 | ¥FoRF BT sw4pifoR
G e
(A) 9% I (B) 10% B
(C) 10% I D) 9% &M
56. THE NI 30% S SEEE I SFBE 30% WEE @OHER | 8 SESHEIE
HIAREATEE! SIS BRI ?
(A) 9% SE™ (B) 10% STSTE JE=
(C) 10% S&™ D) 9% «TSTS A&
56. T G&ATH 30% h! I T3 TR 35k a1¢ 30% hi HH1 g3 | e H, T H g IHaaH &
(A) 9% Hdfg (B) 10% chl H1
(C) 10% 1 dfg (D) 9% ! HHt
SPACE FOR ROUGH WORK
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56. A number was increased by 30% and thereafter decreased by 30%. The net
change in the number in percentage is

(A) 9% increase (B) 10% decrease
(C) 10% increase (D) 9% decrease

1
57. ANF 22 — 2x+ 1 =03 CFq© x3—;amﬂ:

@A) 0 (B)
© -1 D) 2

—

1
57. AANFAN 22 — 2x + 1:0§mx3—;¢@m :

A4 0 B 1
© -1 D) 2

1
57. o GHHYUTEIE 22— 2x+ 1 =0, x3—; Famsn ey ?

@A) 0 B 1
© -1 D) 2

: 1
517. FlﬂchxZ—2x+1=0ﬁ,x3—;WﬂT:f%:

@A) 0 B 1
(€) -1 D) 2

57. In the equation x? — 2x + 1 = 0, the value of x> — e is :

@A) 0 B 1
(€) -1 D) 2

58. 1 3.3 SSaq G5! 919 “1[1 1 75133 SRre=iq 5! 9o G Sferme #i_1 Ti] 2

A) 108 (B) 106
(C) 10% (D) 102
SPACE FOR ROUGH WORK
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58. 1 4.3 S @b T0Fa (AT 1 71.140.3 Serwiad FMh 910w (06 @3 31 A 2
(A) 108 (B) 106
(C) 10* (D) 102

58. 1 (fiy.)3 USRI THT W& Eehi~sh ™ Hiad 1 (&.f8.)3 U&7 Beeh g = g ?
(A) 108 (B) 106
(C) 10* (D) 102

58. 1 HI3 3T o1l Ueh 9 | W T 1 T3 o fehaa & 1S ST Hehdl 8 2
(A) 108 (B) 106
(C) 10* (D) 102

58. How many cubes of volume 1 cm? each, can be cut out from a single cube of
volume 1 m?3 ?
(A) 108 (B) 106
(C) 10* (D) 102

59. 10 b AT G GO (A GO 3 8 Fh Trvore = T3 ST (Al =X |
GHEAMCIE (TR 9.6 To Twbole = JRE GLECE e 139 57li2 W™
Al 2
A) 3.2%F0 (B) 2.8%F0
(C) 3.9%6 (D) 4.4F5

59. 10 Tb CICTT (b TR Y16 (ST AR JCF SR, T2 (STRICT 8 T Tooor =
T | (SR e Fovg e coltet 926 M (reA1Bes 9.6 I TR =i g 2
A) 3.2%F0 (B) 2.8%F0
(C) 3.9%6 (D) 4.4F5

59. TH FIRSTE 10 Hic AT AR § TR M 8 hie Shumsta dFr € | Jfe o

SITERATH @U@ o ST 9.6 I SUTE3TE THIATET o SEARE! S BRE o8 THTS
HCUIEIUIE

(A) 3.27%E (B) 2.8
(C) 3.9 (D) 4.4%%
SPACE FOR ROUGH WORK
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59.

59.

T 10 i 7ol il T SR o foeg 3ehdt g3 8 I il HaTs W R I Tl & | HE ol
SR 1 AR Tl gl T & ST =MET d1feh 39T 3N 9.6 HiE hl HaT3 W SR i Y
Tk ?

A) 3.27%R (B) 2.8

(C) 3.9k (D) 4.4

A 10 ft. long ladder leaning against a wall, touches the wall at a height of

8 ft. By what distance should the ladder be moved towards the wall so that
its top touches the wall at 9.6 ft height ?

(A 3.2ft (B) 2.8ft
(©C) 391t (D) 4.4ft

60.

60.

60.

60.

60.

3:4:5 oo 2! TS AL 5[qeiFT 480 TR o' | 74y FfG1T SBiZeis Tieah!
=

4) 6 B) 8

©) 10 D) 12

3:4:5 SRS Fonfb TR @orFe 480 | G2 Roafb 727 J2e 721

4) 6 B) 8

© 10 (D) 12

HAAT SHNHN TATE'3 @™ 3:4:5 I/ fT@m Femésn Sem™ 480 | o ™
It AT Sefgs <tfem s e

4) 6 B) 8

© 10 (D) 12

3:4:5 % TUTA T TEI <fiF T3 1 UG 480 TR M1 7 | I T@nsti § § gad 9t
TR :

A) 6 B) 8

(C) 10 D) 12

The product of three numbers which are in the ratio 3:4:5 is found to be 480.
The largest number among the three numbers is

A 6 B) 8
(C) 10 D) 12

SPACE FOR ROUGH WORK
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Q. 61 — Q. 63. Choose the correct SYNONYM for the given word.

61. Judicious
(A) Prudent (B) Irrational
(C) Foolish (D) Impatient

62. Monotonous

(A) Pleasant (B) Varied

(C) Variety (D) Tedious
63. Outrage

(A) Praise (B) Favour

(C) Pleased (D) Offence

Q. 64 — Q. 66. Choose the correct option.

64. A number of people listening to a concert or a lecture is called
(A) Audience (B) Spectators
(C) Crowd (D) Rabble

65. The place where airplanes are housed is called a
(A) Garage (B) Warehouse
(C) Hanger (D) Hangar

66. A person who walks in his sleep is known as
(A) Misanthropist (B) Somniloquist
(C) Somnambulist (D) Ventriloquist

Q. 67 — Q. 70. Choose the correct preposition.

67. He said this oath.
(A) by (B) on
(C) with (D) from
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68. The post the Government of Assam in the Department of Education
has been advertised.

(A) 1in (B) with
(C) under (D) for
69. The train starts 5 O’clock the morning Wednesdays.
(A) 1n, at, in (B) at, in, on
(C) 1in, on, at (D) on, at, in

70. The plaster on the walls has been removed to expose the original bricks .
(A) underneath (B) below
(C) under (D) 1inside

Q. 71 — Q. 73. The given sentence is incorrect. Choose the correct sentence from
the given options.

71. ‘The Statesman’ has the largest circulation of any English daily.
(A) ‘The Statesman’ has the largest circulation of any English dailies.
(B) ‘The Statesman’ have the largest circulation of all English dailies.
(C) ‘The Statesman’ has largest circulations of all English dailies.

(D) ‘The Statesman’ has largest circulation of all English dailies.

72. I contradicted against him.
(A) I contradicted by him. (B) I contradicted for him.
(C) I contradicted with him. (D) I contradicted him.

73. This is one of the best book that has been written since ten years.
(A) This is one of the best book written in ten years.
(B) This is one of the best books that have been written in ten years.
(C) This is one of the best books written since ten years.

(D) This is one of the best books that has been written since ten years.
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Q. 74 — Q. 76. Fill in the blanks with the correct options.

74. Please to let the children pass.
(A) stand aside (B) stand to the side
(C) stand in the side (D) stand on the side

75. 1maginative stories about the origin of the game of chess.
(A) Many of the (B) Many
(C) There are many (D) Of the many

76. 1 really have to go now. I have the doctor.
(A) an appointment to (B) an appointment with
(C) appointment with (D) an appointment from

Q. 77 — Q. 80. Choose the correct ANTONYM for the given word.
77. Sympathy

(A) Empathy (B) Antipathy

(C) Condolence (D) Consolation

78. Economise

(A) Enormous (B) Purchase
(C) Waste (D) Trade
79. Hamper
(A) Promote (B) Stop
(C) Barrier (D) Fail

80. Incompetent

(A) Unskilled (B) Inefficient
(C) Dexterous (D) Useless
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81.

81.

81.

81.

forafertis srmR o i
A=2C
A+3C=2C+G
TC=2A+G

ferfafis @M 2G I 2T 2

(A) 2A

(C) 2A+3C

ferfaie Seibegtet fReamel <5 ;
A=2C
A+3C=2C+G
TC=2A+G

TG Swatrer@ T @ 2G @3 I 2

(A) 2A

(C) 2A+3C

TERTE EHT HHHIE! SHAT oATe]
A=2C
A+3C=2C+G
TC=2A+G

MR 56 AFE3T 2G S J9H

(A) 2A

(C) 2A+3C

fraforfaa eyt w famm =t
A=2C
A+3C=2C+G
TC=2A+G

Fraferfiga @ @ 9 2G & ST R ?

(A) 2A

(C) 2A+3C

(B)
D)

(B)
D)

(B)
D)

(B)
D)

3A
3A + 2C

3A
3A + 2C

3A
3A + 2C

3A
3A + 2C

SLRC-2022/P-V/B
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81. Consider the following relations :
A=2C
A+3C=2C+G
TC=2A+G
Which among the following is equal to 2G ?
A) 2A B) 3A
(C) 2A+3C (D) 3A+2C
82. M “FYFI” WHG! ‘R’ *FA OO TS, (S8 APISIE  “TFIAr” w06l Fmferze
(FIICOI *F] (10 T Fe 27 2
&) f&FH (B) 2
(C) TH= (D) 7l
82. IM “FTFLI” ¥V AT T TF THFE OW@ “WHIR” GPaeI@ WEmT IO ACH
TS ?
&) f&FH (B) 2
(C) TH3= D) 7l
82. Jfe “edet” 3“9’ I Wl <, el MR Tast “Vhl” 81 Het@d HHi<l Solral 7
(A) Torehe (B) @fs
(C) Pt (D) ==
82. “hgdel’ W “gH” V< ¥ 5 g Fafd 7, dieh 38T a® “Twt” fF=feifaa forg s @

82.

HEE g ?
(A) Tsrepe (B) ®fh
(C) st (D) IS

If “Conductor” is related to “Bus”, then “Referee” is related in a similar way
to which of the following ?

(A) Cricket (B) Hockey

(C) Football (D) Chess

SPACE FOR ROUGH WORK
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83. SWESI(F FEAMIS AT oelle a1 :
(A) %6 ; e (B) WIRISG : s
(C) IR : Iy (D) TG : AT
83. =g (Sl e 74 -
(A) oo : e (B) wIRfeS : sifers
(C) IRy : Bl D) TG : MRS
83. TRIfRATHT WIS SHIEt AR ?
A) =g - fofirm (B) 3TRIYE : EETY
(C) =Tvre : T (D) TN : <@
83. Tord guferd I shi Tga SHifT ;
(A) e : fomm (B) 3miwg : Tivr
(C) <TUTe : Shiaar (D) HISE : Tifid
83. Identify the incorrectly matched pair :
(A) Newton : Science (B) Aryabhatta : Mathematics
(C) Chanakya : Poetry (D) Mozart : Music
84. T FRrpig Wit ¢ (0wl 51 %< (Gl oelle 5l -
(A) 2@ (Diplomacy) (B) afre (Mathematics)
(C) «@s'af& (Apology) (D) TSfeTcEea (Callisthenics)
84. TN =0 T Mrwld (FFace @RIN of ofere 34 -
(A) 2Pt (Diplomacy) (B) aifre *1@ (Mathematics)
(C) @R (Apology) (D) FIfICER (Callisthenics)
84. TSN FeAUTE BIYTE! GBI Higed! TfiN ?
(A) feswmta (Diplomacy) (B) #umfed (Mathematics)
(C) WA (Apology) (D) whferedf¥ed (Callisthenics)
SPACE FOR ROUGH WORK
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84. 3 G ! UEHM i Wl 3 AT % & ! Teiid AT 8
(A) Tt (Diplomacy) (B) #omfesm (Mathematics)
(C) WAt (Apology) (D) hferedfyed (Callisthenics)
84. Identify the term which refers to an area of higher studies :
(A) Diplomacy (B) Mathematics
(C) Apology (D) Callisthenics
85. 39 93 @IU® BEC 3 ®¢ ‘books are old’, EDF I %1€ ‘man is old’ ¥l CGH @&

85.

85.

85.

85.

‘buy good books’ WQTW | 3% ‘books’ T (FIT (2R :

A) B B) C

© E D) D

@35 7@e BEC WA ‘books are old’, EDF @RI ‘man is old’ 433 CGH @RI
‘buy good books’ | ‘books’ *FHF Tl IIZS ALPS

A B B) C

© E (D) D

o8 Hig 3@ (code) BEC T 3tifusn Smam “fesieet mem” EDF 1 3nifysn smem
“qrfiEn SR I CGH 1 3nifysn smeam “mem fsseeret a7 | “fosesri”
YTER DS A&

A) B B) C

© E D) D

fopelt wh I § BEC &1 31¥ 2, ‘books are old’, EDF @1 37 g, ‘man is old’ 3iR CGH
%1 379 8, ‘buy good books’. ‘books’ & T HIE 2 :

A B B) C

© E (D) D

In a code, BEC means ‘books are old’, EDF means ‘man i1s old’ and CGH
means ‘buy good books’. The code for ‘books’ is

A B B) C

© E D) D

SPACE FOR ROUGH WORK
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86. TeTfIII® (PG AL SR CICS fsfe ?
A) 729 (B) 512
(C) 232 D) 125

86. T Safie @ M1 Sy (e fom 2
@A) 729 B) 512
(C) 232 D) 125

86. TR ST TEABS TS ?
(A) 729 (B) 512
(C) 232 D) 125

86. fmrferiga § & s ot T = e S T R 2
@A) 729 (B) 512
(C) 232 D) 125

86. Which of the following numbers is unlike the others ?
(A) 729 (B) 512
() 232 D) 125

87. VAR *MF IS IR SR SAIGPRIZ TR T, “(STHeq GG SI9ee (T
+qd ol P | Aol At s_RSI e owE |
A) T (B) sl
(C) frg (D) <

87. M A MF O™ T TR e, “OF GG ©I2 29 SR ~[Cad o el 12
SRAM /10 20T SHEA -
A) fremz (B) sifos
(C) forel D) =

SPACE FOR ROUGH WORK

SLRC-2022/P-V/B 50



87. fefa ferta T wrmmffe snfa o Segen g1, “faf wam e sn snf fearsen
T forr | Ieet TeTe wUrwTSt w1 "l ?
(A) 3 (B) ferame
(C) fomr (D) fas
87. et BRI W et ht I II LA T 36T Hed &, “ITehT Fehalidl W15 W e o far s
e P Eieseas 7|
A) <« (B) st
(C) fuan (D) ==
87. Pointing to the newsreader on TV screen, Uday says, “ His only brother is the
father of my son’s father.” The newsreader is Uday’s
(A) Grandfather (B) Nephew
(C) Father (D) Uncle
88. feTafeTIe (B! *<1 ST */7q TS e ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
88. T Traife =wesfora S (I *=ib S (e fom 2
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
88. TERIM o WY HICET TEHHRST TS ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
88. frfetfiad o & i ©1 7168 8Nl § A & ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
88. Which of the following words is different from others ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
SPACE FOR ROUGH WORK
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89. WM 3249685 MAIG SHRENF THETS FEEN BF (SC¥ [BAA FAGT SR E
Ao ¢2 AR 2
A 72 (B) o<
(C) fefq D) &%
89. 3249685 MANVTENE IM THEFAPICE A 3, O (NG TS0 FRUF Bl GPITP
QPR ?
A 720 (B) ol
(C) feas (D) @b
89. dfg 3249685 AR foam STHEIRET Aemiea AHed fsaman maf uef smea
AT AT 2
NERIEE (B) wHst
(C) wHY™ (D) #r R
89. e T 3249685 % 3iehi h! TR oA T SAGfEAd feora STQ, a1 fohaw 37ent Y feurfa wam
@t ?
Q) = (B) =W
(C) = D) T
89. If the digits of the number 3249685 are arranged in ascending order, the
position of how many digits would remain the same ?
(A) Two (B) Four
(C) Three (D) One
90. “3:A:90::3:B:1095” © € I[& 791 @I ZI7+ T A ST B T ol%e [ 5 3f2 2
(A) TR, I=J (B) 7, TOl
(C) =3, fiw D) e, =5l
SPACE FOR ROUGH WORK
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90.

90.

90.

90.

e g efes @ A @9 B O R[S R e 2
“3:A:90::3:B:1095”

(A) =M, I (B) P, TG

(C) 3ITW, firey (D) T, =5l

“3:A:90::3:B:1095” @ Tl Sfesti ST A 3R B @ MERIN Sl @@=l g
(A) TH, SER (B) ©H, "=l

(C) «ER, gH (D) M, "=

“3:A:90::3:B:1095” T eh&Td Hael T i o fot A 37 B w1 R gfaeenfia sm ?
(A) HENT, | (B) H&HT, T

(C) =, e D) feq, =@

What would replace A and B in order to establish a logical connection in
“3:A:90::3:B:1095” ?

(A) Month, Year (B) Month, Hour
(C) Year, Days (D) Days, Hours

91.

91.

NRZ S| AN TS 7S 2T €4 H[F 2o YAHS(F BIo | Toll A& ets 64
% BT i3 BI7R | 9 AS+[o( BI9F | GRS 84 UG [P (202

) fzre (B) &7

(€) oM (D)

NEFANWR T AGS S (AT 771, (@ R (AT A | Ao Bl (2 o1 (5%
f2Te™! (AT 41T | [ A (T 4! | (& A o7 2

(A) fre B) &S
(C) «ror D) ~Je
SPACE FOR ROUGH WORK
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91.

91.

91.

TEEEHMN (colleagues) BRI ATe™ Uwgden fedwfngs Sifem o S Qs
TEERE | AR EEeifrgs S, T Rovfrgg TERRE | g o Iy tRs
TERTYA | 91 s3figs e ?

A) feaw (B) TSHd

(C) Tamm (D) &

TTfort o TrYq T & e 7, <1 G 8 Bier @ | Faren feansf & el 7, <iferq fgaw @ a1t
I g USII B2 | 9o Fe1 hH & ?

(A) fedw (B) TSIqd

(C) amm (D) g™

Amongst the colleagues, Rajput is taller than Hitesh, who is shorter than
Suresh. Natasha i1s taller than Himashri, but shorter than Hitesh. Suresh 1s
shorter than Rajput. Who is the tallest ?

(A) Hitesh (B) Rajput
(C) Natasha (D) Suresh

92.

THRIR SRrerTE @bl Pae (Y€ ni e @ e i Sferiicst | i Sfereal
SR¥CH! TBIETSIE BB R [o9re firrs Fs@aii freel | (72 2o 45t @3 T
PR 52 ?

(A) Ay (B) <sfwq
(C) TSTFE (D) TGN
SPACE FOR ROUGH WORK
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92. TNzl b@ M G SATSTHFAE RYFS @2 IARA FIG | FI0! TFRGE TSARTSIE
S TR (&l O | (Rl 1 Sphs(b (o 2

Q) cwgs B) f
(C) IS (D) Hififea

92. WEET AHE TR fomel T graist FrermiiaTe fefRmm smafed afemn | &1 S sTem
HEE T STETGRE Tt ST e 3T S=d HY =1 A€ | S8 € 07 gramg

Hi=l 7

(A)  IrETfRmEn (B) =
(C) form gsag (D) Sfufsem

92. BN A T 37d I J8 6 fegman e 2, feidier T 7 fewn & whre feam | ¢ gu g 1
FHMIR §9 8 gE{ T TAMFIANT hleh Ta1 [9Ushral T | T&1 ol 3{e @1 eI firei 2

(A) TS (B) =
(C) THI Tqdst (D) YT
SPACE FOR ROUGH WORK
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92. Sneha cut off a rectangle along the dotted line as shown. The cut piece was
parallelly shifted to the other side and fixed it there. What shape will Sneha
get now ?

(A) Pentagon (B) Square
(C) Parallelogram (D) Trapezium

93. fmfere e ba2
(A) (B)
©) D)

93. FGR @ ot ©r/r, T, S 92 F=0RHGe efsfig 0 ?

A) (B)
© D)

93. RN ¢ AN FENAT T, ‘WBH, THAM @t BIERT ?
(A) B
©) D)

SPACE FOR ROUGH WORK
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93. fmaffga @ @ %= a1 s
TTYT, Vo, ST o1 ATc=TeIed o Tehdl & ?
A) B)
©) (D)
93. Which of the following diagrams can represent ?
‘Language’, ‘French’, ‘German’.
A) (B)
©) D)
94. oS GUFBI TP (PRI 7507 (7S (2 :
A 3 Rore e 24t 3o tarm
A) F (B) D
© C D) E
94. @b U2 TCFG IFIEFSIE ML -
A 3 R3S 04 @ 39D i -
@) F (B) D
€ C D) E
SPACE FOR ROUGH WORK
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94, TR TSI ST JATSHRE! TERTE BRI HERE R |

A T el o fergama m g § ¢

A F B) D

© C D) E
94, Frdtsd s R gafEm ™|

A o Toadia die gt feam mam srer g
A F (B) D
© C D) E

94. In the figure, multiple views of the same cube 1s shown

The letter on the face opposite to A is

A F (B) D
€ C D) E
SPACE FOR ROUGH WORK
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95. G IFTRT AW ST T SO IS ot =, (o0 AT =[] I 3! == :
@A v B) U
© T D) F
95. I TEE I RS T (AF AT (FANCACHR) @4l =, O I e
(AT T 3 (I ?
@a v B) U
© T D) F
95. Jfc S TrE@RE! B3 3T BIRST foReTSTea, STFERIHHR HiA1 gF™ € T grarst
HT ST ?
A\ v B) U
© T D) F
95. Ife AU 31 ol Ioe QAfdst ohA A foT@T a1 2, T 910 8 BT AL BT AT R 2
@a v B) U
© T D) F
95. If the English alphabets are written horizontally in the reverse order, then
what is the 6th letter from left ?
@a v B) U
© T D) F
96. 13 [l 100 31 o0 FRCIR A SreTs 2 SRAGIF [P =12 a1ifar 2
A 12 (B) 15
(©) 10 (D) 13
96. 1 (ACF 100 1@ TN 7T TR AT ‘2" FAIS o140 204 2
A 12 B) 15
(©) 10 (D) 13
SPACE FOR ROUGH WORK
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96. 17 wr 100 faw formma s smismHE T ew 2 @t foamme 2
(A) 12 (B) 15
(©) 10 D) 13
96. 1 ¥ 100 T I T T ! forgd a0 ‘2’ o1 fehat SR foran Smam 2
(A) 12 (B) 15
(©) 10 (D) 13
96. While writing the even numbers from 1 to 100, how many time ‘2’ will be
written ?
(A) 12 B) 15
©) 10 (D) 13
97. @bl WGER (@I Gl THRYE @™ FE GSERE [aged Spae FiG Seredl 27 |
I Sfereal fage™ 15 =4 /e 2’3
(A) 5 B) 6
<€ 7 D) 8
97. O3 PGSR @ I GB AR [ T ©F w1 Fiw @6 e fags wite
&= 1 2 | TG A6 fage (@06 (@1 31 A0 2
@A) 5 B) 6
<6 7 D) 8
97. W smaErftEt fofy fufaffags smafam guksme sm'T aem | 9 srEfest
He™ STRETFIYM g& T T ?
A 5 B) 6
© 7 D) 8
97. T GHYS ol ITeh! Teh MY & TSl o €9 § Sled TV | 39 qL8 e W fHeherdt Brgstt
G B
@A 5 B) 6
€ 7 D) 8
SPACE FOR ROUGH WORK
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97. Cut out a Decagon through one of its vertices, in the form of triangles. Total
number of triangle cut-outs will be
A 5 B) 6
<6 7 D) 8

98. feTafeTIS (B! 1R AR (18, 75), (39, 54), (27, 66) T 7 e T2 T ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
98. T Sw@ie @M W4y (@ell’ 1FeeiE TiiFe 2
(18, 75), (39, 54), (217, 66)
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
98. T FANH SR MERE B S(ed FHw] T ?
(18, 75), (39, 54), (27, 66), ?

(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
98. TmfaRaa & @ form den & 3@ &1 569 (18, 75), (39, 54), (27, 66) % T ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)

98. Which of the following pair of numbers has the same relationship as (18, 75),
(39, 54), (27, 66) ?
(A) (51, 42) B) (32, 62)
(C) (b1, 65) (D) (61, 55)

99. 5,7, 11,17, 23, 35, 47, ... TGS HET FAH! oo 7 ;
(A) 23 (B) 17
(C) 11 (D) 35

99. TS TWTSIF ToFE® M Hirs 34
5,7,11, 17, 23, 35, 47

(A) 23 B) 17
© 11 (D) 35
SPACE FOR ROUGH WORK
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99. 5, 7,11, 17, 23, 35, 47 HIN3TE MR BV STHM ferere@t TR ?

(A) 23 B) 17
<€) 11 (D) 35
99. @t 5, 7, 11, 17, 23, 35, 47 H TTeld T@T 71 U¢ T&=1T |
A 23 B) 17
© 11 (D) 35
99. Identify the term that is incorrectly placed in the series 5, 7, 11, 17, 23, 35,
47.
(A) 23 B) 17
© 11 (D) 35

100. BFEC, KONL, PT # Q X345 # T 513 (FI06! 3G 3 9211 a1ifarq 2
@A) S B) U
©) R (D) D

100. &= 36T # @3 B efozi+e 2@ 2
BFEC, KONL, PT # Q

(A) S B) U
(C©) R (D) D
100. S @IS GINSTE A # @ G- gmA ? BFEC, KONL, PT # Q ?
a) S B U
€ R D) D
100. = @1 378X BFEC, KONL, PT # Q T # =1 STg @ ?
(A) S B) U
(C) R D) D
100. Which letter should replace # in BFEC, KONL, PT# Q ?
4 S B U
€ R D) D
SPACE FOR ROUGH WORK
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